N@WK>(ﬁ#ﬂN

ARAX = 2|

NTC FPGA 2%t 6.

(=) SEIM (NewTC)

http://www.NewTC.co.kr

o

>3

ok
<l

tASLICH

= 220l ot £do

II2H I SHGHE=S of

Xt
Active Low 2| B ot ELICH

S&E2 Active Highel 2 A9

[ XI 2]

A9

Ol
—

-

S
ay

Jl=

Ot

JLICEH

o

ci &2 Active High

VDD

FPGA

Pin : 87

% 4 7KR
=

21 Z2llld= A9IX &

o as o210 22 2 Oidse 20 SII

J

oI
Al

S U C

always @(posedge clk) 20l “posedge clk”0ll SJ|%l 0

oo
—

H always —*

(=13
=

® S 4

58/80



NEWIC =%

New Technology Company

o http://www.NewTC.co.kr

LED S/W Input
Pin: 68 Pin: 87

OIMl A4 (always 2 ALE)

module test led  ( clk, reset, board_sw, board_led );
input clk, reset;
input board_sw;
output board_led;
reg board_led;
always @(posedge clk)
if(Ireset)
board_led <=0;
else
if(board_sw ==1)
board_led <=1,
else
board_led <=0;
endmodule
Gl A AA (assign 2 AIR)

module test_led
input

input

output

assign board_led

endmodule

(clk, reset, board_sw, board_led );
clk, reset;
board_sw;
board_led;

= board_sw;
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always @(posedge clk)
if(Ireset)
board_sw_buff <= 0;
else
board_sw_buff <= board_sw;
always @ (posedge clk)
if(Ireset)
edge_detect <=0;
else
if( (board_sw_buff==0) && (board_sw==1))
edge_detect <=1,

else

edge_detect <=0;
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